Romans 4:10



 - is the inferential use of the postpositive conjunction OUN, used in questions, meaning “then.”  With this we have the interrogative particle PWS, meaning “How, in what way.”  Then we have the third person singular aorist passive indicative from the verb LOGIZOMAI, which means “to be credited.”  The subject “it” contained within this verb refers to the righteousness of God, which is the subject of this context.

The aorist tense is a constative or historical aorist, which gathers into a single whole the imputation of God’s righteousness to Abraham and regards it as a fact without reference to its progress or result.


The passive voice indicates that the righteousness of God received the action of being credited to Abraham.


The indicative mood is an interrogative indicative, which is used in question that can be answered with factual information.

“How then was it [God’s righteousness] credited?”

- is the preposition EN plus the locative of sphere from the feminine singular noun PERITOMĒ, meaning “in the state of circumcision.”  This is followed by the locative of time from the masculine plural present active participle from the verb EIMI, which means “While being.”

The present tense is a historical present, which is used for the sake of vividness and dramatic effect to make the readers imagine that they are present and witnessing a past event.

The active voice indicates that Abraham produced the action of being in the state he was in at the time of salvation.


The participle is a temporal participle, indicating the time when the action of the main verb takes place.  The present participle is coterminous (at the same time as) the action of the main verb—when God’s righteousness was credited to him.

This is followed by the disjunctive particle Ē, meaning “or.”  Then we have the preposition EN plus the locative of sphere from the feminine singular noun AKROBUSTIA, meaning “in the state of uncircumcision.”
“While he was in circumcision or in uncircumcision?”

 - is the emphatic, dogmatic, absolute negative adverb OUK, meaning “Not” followed by the preposition EN plus the locative of sphere from the feminine singular noun PERITOMĒ, meaning “in the state of circumcision.”  Then we have the strong adversative conjunction ALLA, meaning “but” followed by the preposition EN plus the locative of sphere from the feminine singular noun AKROBUSTIA, meaning “in the state of uncircumcision.”
“Not in circumcision but in uncircumcision.”

Rom 4:10 corrected translation
“How then was it [God’s righteousness] credited?  While he was in circumcision or in uncircumcision?  Not in circumcision but in uncircumcision.”
Explanation:
1.  “How then was it [God’s righteousness] credited?”

a.  Paul defends his answer in the previous verse with another rhetorical question that he will answer.

b.  Paul is leading the Romans and us down the logical road of enlightenment.  Tagging along behind are all the legalists, especially the Pharisaic Christians that hounded him throughout his ministry.

c.  So Paul asks a question that is a logical inference from his preceding conclusion that the righteousness of God was credited to Abraham on the basis of his faith alone in Christ.


d.  The question centers on the circumstances of Abraham’s life when God imputed His righteousness to Abraham.  Paul is not asking ‘when did it happen’, but what were the circumstances of Abraham’s life that caused God to do this.

e.  Even though Paul did not ask when this occurred, the answer is found in the answer to the question, “When did it occur?”
2.  “While he was in circumcision or in uncircumcision?”

a.  Paul further defines his question by asking a second question—exactly what state was Abraham in when God imputed His righteousness to him?  Was he circumcised already or not?

b.  This is the key proof to the Judaizers, the legalists, and the Pharisaic Christians as to the importance of being a Jew and obeying the Mosaic Law as the means of being righteous before God.

c.  If Abraham was circumcised when God credited His righteousness to him, then the Jews have an argument for circumcision being a necessary part of the spiritual life and possibly even a prerequisite for salvation.


d.  However, if Abraham was uncircumcised when God imputed His righteousness to him, then the following conclusions are obvious:



(1)  Being a Jew is not required for salvation; for Abraham was not a Jew until he was circumcised.



(2)  Circumcision has nothing to do with salvation or the spiritual life.



(3)  The Law, which required circumcision, has no impact or influence on the imputation of God’s righteousness, if God’s righteousness was given prior to the existence of the Law.

3.  “Not in circumcision but in uncircumcision.”

a.  Paul gives the dogmatic answer, which the legalists should have known or else chose to ignore—Abraham received God’s righteousness while he was uncircumcised.

b.  Therefore, since Abraham was uncircumcised, God credited His righteousness to Abraham’s account while he was a Gentile, not a Jew.

c.  If Abraham received the righteousness of God as a Gentile, then any Gentile can receive the righteousness of God.


d.  Therefore, being a Jew, obeying the Law, and being circumcised is of no benefit in relationship to the imputation of God’s righteousness.  The only thing that matters is faith alone in Christ alone.
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